6“'&"]‘(18’}'!‘(,3 Ff\o -5} 2001

PN\O«L‘T ll‘l\ QC’\/\‘GV\/

QC\"\(]OVV\ \/Nl’i\l”l?) - X | M
Ex: X ~ N(/M,Q‘”)

sty ki B P(Y e p) = jAw dx

N V4
distebt on fonchon = F(’A - TI)(X 2 ﬂ
- [ 8y dn

'

Erprekd wle = E(X) = [ % $6a) dx

Varin = Var(%) = E((-p)") e ELX).
B - LB

P weet & X = (X))

MW“+ V\’/l/}"\‘« R/vxolwfv\ -
T ) by
MOE, = ML) - E(e)

[ gt dx
Mlo) = Ywﬁ[ﬂ dx = |
M) f K B dx

Wl =[x 86 de = EDO.
MY = ()



C(/\.U\/a\(,’l'—fr‘(S"l_l(’/ T:‘Jl/ko’l'\&/—\’

L]DX{'(:\ 2 EE( @H’rx\/ Cos tX & C S b X

L’cXL
5 AR Ay

t!

fD\N‘\Q—f‘ )r/v\.1 N c\f ™ /g_ -10-

i

~

Ay

I/om SLNM:AHA)
— o

X e cl/\vu.')—:) £ L \\/:j()CB

\f\}\/\a\"\ [N M QL\\/I.):J—) L«\kou:/\, Sl\"’/\ \( %

( A5~ ﬁ D) Mown o )4./\-4/ I-V\-(./ng\\,é’ \

f{\’ eA\ - F(Q(X\éAB

< TlX e g(m ).
- 5 ’Y’(XB dx | <3 o = ﬁ((\))
6[’*\ =7 3['2() < j “je/'_\'
= p5)dq" d B e =4
,{ (ﬁ )é% j dx x\ )
L,_\/__J ({X: A;JX J«)
\/1{\33 /~Hf1 CI'\V\Jli} u—
& Y



MU\'\‘I - th\/‘d ./\\)u:/\.(ﬁ l C‘ll 5"\‘{ .‘L)v‘l‘ (ou}lJ -

CCN\S\C\A(‘ rL \/Avxtl’wv\ Vm/.wlv\ﬂ) X, Y.,

jo(./\‘\“ PVDIOcAlﬂ: lfL} A/H/\Mlé . FC(X’VJ\
Pl Xen {es) - H Lhamy)

b A

Py e ) = | oy dedy
C

X\\( a/L (V\.é/\,?'ev\_ L4 (&; ([D()(epr /"(je @\

- {l[ylv)\ . %(@ %,(j\
L— —

MWS‘U—‘“] dewsitie
%((’X\ = f 'F/(XI\DB cJ\j .

C()\ACL\.‘\”‘&;/\%I i éo\/v\ \/o\r,(:\gl/_)

TP(X e D ] \l/:'ﬁ\ = /P(X(kQS > ’CX\Y('X}‘:)\ ﬂ

- F&e#) lP[Xeﬁ)_

= f M dx = Y Q(%j) dx
L [\3> L‘((V) -
= 1.
[%\// uJ—C ’\‘mws g:)(‘vv\.«‘)"M
ol ( B = \/J\/\eA :'3 A/Lu c‘/wlmlj} c/g*
= 9 X1 U ¢ >/



CZ)V#\/WL;J Okwcl Cof/t,lo. J’\OL

Cod %) = B (D Yop)) = Cor( 1)
TE XY we wdpeadid
= ﬁf(X‘/wx’B [E(Y//U\‘c/\

= 0O

Cornlolon A X T = oo Q_cwb(.%\ é[’),’i\:

Nocld) Nadnd

~—

S‘\"\&A(la\(é,
v o
A X

Ms./ \\‘I‘Q\KW\L\A‘)‘\Q\AWl NOf Mo k qu clo-\N\ \/m/:;LLDL/\)

><1 )y ><,\ 2% N(//\b /GEC\ Vandom  varabW.
and CO\/(X;) Xj\ = Gj

_'/L\L CQJ(I\fLs.V‘\-/U" Mq}ffy - C . = G'L'~
\_/\/\/

Nxn  makex




S Wx,,‘-)?m dog odo, = |

E@(J\ = J‘ x5 'E[?(\\..%m\ 47&“*‘]/&\.

—_—

c/lvxfj\/ull\41?3

Mm/ \(.0\/ \*/\h]wll‘[} -

T8 X0 LAl E(x) <0,  dhun
Ie\)F 0\1/\3 '11170 )
()
Plyse) ¢ 5
+
0o £ pe
FLO = bt de =[x+ |80 da
> ) & S g
k

29

7 & [ PO e = X Tlxoon)

b
= £\ 7 L Bx>k)

~ Plx-s) ¢ B0V
£



